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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence, Then mark your answer sheet.

1- Before you ------——-- to the next question, you should take some time to make sure
you're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -——-——--; the kids spilled food all over the
kitchen and thev wouldn’t listen to anything I had to say.
| ) invasion 2) enigma 3) condemnation 4) hasco

3- We were very unhappy with the --—---—-- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -—---—-—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a ————-- — matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s -~—-—-—-- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to ---—--- ---
foreibly.
1) dissent 2) vanish 3) avoid 4} abate

8- “It is my firm «eeeeeeee- .'' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You'll have a better chance of finding that unusual word if you look it up in a/an
------ dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to ---—---—-- their
waftches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers. are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) —==-=--—- the desired crop relatively unharmed.
Some of these act by interfering with (12) —===-==-- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites, railways and railway
embankments are not selective (13) ——=—--—— all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) ——=-—--—-- as wildlife habitat.

Some plants produce natural herbicides, (15) ===meee=— the genus Juglans (walnuts), or the
tree of heaven: such action of natural herbicides, and other related chemical interactions. is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer
sheet.

PASSAGE i:

The arts and sciences are essential ways that we come to know the world, but much of our
response to the environment is determined through individual experience of landscapes.
Environmental phenomena extend from sub-microscopic to global scales and change over time
spans that range from milliseconds to millennia. In landscape ecology the processes studied can
be as small as the home range of a spider or larger than a continent. But it is difficult for people
to understand. care about, and act purposefully upon phenomena that occur at scales beyond
our own direct experience. Because humans so powerfully atfect environmental phenomena,
we contend that it is highly meaningful and relevant to understand human interaction with
ecosystems at the scale of landscapes, defined here as the physical patterns we perceive as
making up our surroundings.

The scale at which humans as organisms perceive landscapes, what we term the perceptible
realm. is particularly important because this is the scale at which humans intentionally change
landscapes, and these changes affect environmental processes. At this scale. landscape
perception thus becomes the key process for connecting humans with ecological phenomena.

An ecological aesthetic is. by defimtion. normative in that it asserts that 1t is desirable for
humans to take aesthetic pleasure from landscapes that embody beneficial ecological functions.
For all landscape types. people tend to interpret their aesthetic experience of landscape as
providing information about its ecological quality.

16- What is the main subject of the passage?
| ) Environmental phenomena 2) Ecological phenomena
3) Landscape perception 4) Landscape ecological aesthetic
17- Why is it meaningful and relevant to understand human interaction with
ecosystems at the scale of landscapes?
| ) Because there is a significant interaction between human and landscape.
2) Because environmental phenomena completely change human being.
3) Because human cannot have any impact on his landscape.
4) Because humans live in different scaled landscapes.
18- According to the passage the word “perceptible realm” is closest in meaning to ?

I) City scale 2) Environment scale
3) Territory scale 4) Landscape scale

19-  According to the passage the word “interpret” is closest in meaning to
1) Translate 2) Mean 3) Perceive 4) Imitate

20~ The author of this passage believes that:
1) Humans can perceive and know the world by means of cumulative experiences
2} Humans perception is a remarkable object to connect human with nature
3) Humans can change and affect environmental phenomena in any scale
4) Humans perceive the landscape in the scale of their settlements
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PASSAGE 2:

A site analysis i1s a program-driven assessment of a site’s physical. biological and cultural
attributes. The site analysis identifies the opportunities and constraints for a specific land use
program. Therefor a site analysis is a diagnostic process. and not just a matter of descriptive
mapping. The attribute maps created in the site inventory provide the physical. biological. and
cultural data needed for this program-specific analysis.

The amount of land on a site that is suitable for development is determined during the site
analysis phase. Some part of the site may be unsuitable for development because of inherent
physiographic constraints. These constraints include shallow bedrock. steep slopes. and highly
erodible soils. Other parts of the sites may be suitable for development but relatively
inaccessible. Lack of access to part of a site maybe due to intervening site conditions. Such as
water and wetlands or to property boundaries that preclude alternative access routes. These
physical and legal barriers substantially increase the costs of extending roads and utilities to the
isolated areas. Consequently, pockets of development but inaccessible land. in addition to
accessible but undevelopable areas, can make the original program objectives unfeasible.

21-  Which one refers to the site’s attributes that are assessed in site analysis?
1) Cultural, historical. biological 2) Cultural. biological. physical
3) Physical, economical. biological 4) Historical, physical. cultural
22- According to the passage all the following are correct about site analysis EXCEPT:
[) The amount of land on a site that is suitable for development is determined during
the site analysis phase.
2) A site analysis is a program-driven assessment of a site’s physical. biological and
cultural attributes.
3) The site analysis identifies the opportunities and constraints for a specific land use
program.
4) A site analysis is a matter of descriptive mapping and a diagnostic process.
23-  The word *diagnostic” in line 3 is closest in meaning to:

1) Adjustable 2) Measurable 3) Identifiable 4) Recognizable
24- what is the main subject of the passage?

| ) Site analysis 2) Site inventory

3) Site visual analysis 4) Site synthesis
25- The word “steep slopes™ in the second paragraph refers to the:

| ) Physical constraints 2) Economical constraints

3) Cultural constraints 4) Biological constraints
PASSAGE 3:

Over the past 15 years, ecotourism has become one of the fastest growing sectors of the
tourism industry, growing three times faster than the industry as a whole. At the same time,
ecotourism is being increasingly viewed by local and indigenous communities as an important
tool for promoting sustainable livelihoods. cultural preservation. and biodiversity conservation
(Honey, 2006). The International Ecotourism Society (TIES, 2006) defines ecotourism as
“responsible travel to natural areas that conserves the environment and improves the well-
being of local people™ . Ecotourism has. in essence. three core tenants. It holds that, done well.
it can (1) protect and enhance the environment, (2) respect local cultures and provide tangible
benefits to host communities, and (3) be educational as well as enjoyable for the traveler
(Honey, 2006).
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26- According to the passage ecotourism can upgrade all of the following EXCEPT:

27-

1) biodiversity conservation 2) cultural preservation

3) ecological development 4) sustainable livelihoods

Which is the best definition of ecotourism from the view point of Ecotourism

Society?

1) a form of tourism involving visiting fragile. pristine. and relatively undisturbed
natural areas,

2) improving local’s life and conserving the environment while visiting the natural sites,

3) a form of niche tourism that is considered a growth industry in many parts of the
world.

4) a tourism which relates to the ecological development.

28- The word *tenant” is closest in meaning to:

29-

30-

1) Feature 2) Resident 3) Inhabitant 4) occupant
Which is NOT one of the main ecotourism’s functions :

| ) Cultural function 2) Environmental function

3) Recreational function 4) Industrial function

What is the main subject of the passage?
| ) Ecotourism industry 2) Ecotourism
3) Tourism 4) Tourism industry
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